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Solved Examples

1. Write the correct answer from the given four

options : Sania and Trapi visited Leh and

Tawang respectively during winter. Sania


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Tu0KEuUcSnPJ

reported that she had experienced —4°C on
Sunday, while Trapi reported that she had
experienced —2°C on that day. On that
Sunday

A. Leh was cooler than Tawang.

B. Leh was hotter than Tawang.

C. Leh was as cool as Tawang.

D. Tawang was cooler than Leh.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Tu0KEuUcSnPJ

2. State whether each of the following
statements is true or false:

Every positive integer is greater than 0.

o Watch Video Solution

3. State whether each of the following
statements is true or false:

Every integer is either positive or negative.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tu0KEuUcSnPJ
https://dl.doubtnut.com/l/_71IYn3OxAfMD
https://dl.doubtnut.com/l/_2P5vIw1SXFY6

4. Fill in the blank using <, > or =to make

the statement correct

o Watch Video Solution

5. Represent the following using integers with
proper sign :

3 km above sea level

o Watch Video Solution



https://dl.doubtnut.com/l/_WRV357GCVZ12
https://dl.doubtnut.com/l/_WsuG1o3TX9pJ
https://dl.doubtnut.com/l/_baqzstsSv43I

6. Represent the following using integers with
proper sign :

A loss of Rs 500

o Watch Video Solution

7.Find the sum of the pairs of integers :

—6—4

o Watch Video Solution



https://dl.doubtnut.com/l/_baqzstsSv43I
https://dl.doubtnut.com/l/_WAROFJY99apX

8. Find the sum of the pairs of integers :

+3, —4

o Watch Video Solution

9.Find the sum of the pairs of integers :

14, — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_onfs6htBqXON
https://dl.doubtnut.com/l/_9wbe6em6c240

10. Find the sum of —2 and —3, using the

number line

D.O

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FinDGPjxIwVW
https://dl.doubtnut.com/l/_6mZrjILvtt9S

1. Subtract : (i) 3 from —4 (ii) — 3 from —4

o Watch Video Solution

12. Using the number line, subtract : (a) 2 from
-3

(b) —2 from — 3.

o Watch Video Solution

13. How many integers are there between —9

and —27?


https://dl.doubtnut.com/l/_6mZrjILvtt9S
https://dl.doubtnut.com/l/_nndKO48d9rm0
https://dl.doubtnut.com/l/_5GbLijiLQX75

° Watch Video Solution

14. Calculate :

1-24+3-4+5-64+7-8+9-10

o Watch Video Solution

15. The dum of two integers is 47. If one of the

integers is — 24, find the other.

° Watch Video Solution



https://dl.doubtnut.com/l/_5GbLijiLQX75
https://dl.doubtnut.com/l/_eNq0lnp6owtZ
https://dl.doubtnut.com/l/_5H87m6jsE8SE
https://dl.doubtnut.com/l/_TaEw3UN70kkb

16. Write the digits 0,1,2,3,4,5,6,7,8 and 9 in this
order and insert '+' or - between them to get

the result

(@) 5(b) —3

o Watch Video Solution

17. Write five distinct integers whose sum is 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_TaEw3UN70kkb
https://dl.doubtnut.com/l/_sdOhG9bKxuPA

Exercise Only One Of The Four Options Is Correct

Write The Correct One

1. Every integer less than O has the sigh

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kr4Mxxcltn8d

2.The integer '5 units to the right of O on the

number line' is

A +5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kr4Mxxcltn8d
https://dl.doubtnut.com/l/_8HDJQscuhsF1

3. The predecessor of the integer —1 is

A.O

B.2

D. 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_jYfxlKErKRld

4. Number of integers lying between —1 and 1

IS

Al

B.2

C.3

D.O

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_WdNkrmjWQ8aI
https://dl.doubtnut.com/l/_TreBrwGSc4ew

5. Number of whole numbers lying between

—5and 5 is

A.10

B.3

C.4

D.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TreBrwGSc4ew

6. The greatest integer lying between —10

and-15 is
A —10
B. —11
C.—15
D.—14

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tqv7LSYGJm5w
https://dl.doubtnut.com/l/_2M8G7KtUyBdJ

7. The least integer lying between —10 and

— 15 is.
A —10
B.—11
C.—15
D.—14
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_2M8G7KtUyBdJ

8.0n the number line, the integer 5 is located

A.to the left of O

B. to the right of O

C.to the left of 1

D. to the left of -2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RWczqCw11CuV

9. In which of the following pairs of integers,

the first integer is not on the left of the other

integer on the number line?

A. (-1,10)

B. (-3, -5)

C. (-5,-3)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7GHr5Vjfmdi5

10. The integer with negative sign (-) is always

less than

A.O

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pDeYEREQuuZg
https://dl.doubtnut.com/l/_AMlDToyBglxx

11. An integer with positive sign (+) is always

greater than

A .0

B.1

C.2

D.3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AMlDToyBglxx

12. The successor of the predecessor of -50 is

A. —48
B. —49
C.—50
D. —51
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LpXpxRR8rDgo

13. The additive inverse of a negative integer

A.is always negative

B. is always positive

C.is the same integer

D. zero

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_TSHSUZKzv9KK

14. Amulya and Amar visited two places A and
B respectively in Kashmir and recorded the
minimum temperatures on a particular day as
—4°C at A and —1°C at B. Which of the

following statement is true?

A. A is cooler than B
B. B is cooler than A
C.There is a difference of 2°C in the

temperature


https://dl.doubtnut.com/l/_h7BxBFZ1CePB

D.The temperature at A is 4°C higher

than that at B.

Answer:

o Watch Video Solution

15. When a negative integer is subtracted from
another negative integer, the sign of the

result

A.is always negative


https://dl.doubtnut.com/l/_h7BxBFZ1CePB
https://dl.doubtnut.com/l/_7f9RHiuyDFSJ

B. is always positive

C. is never negative

D. depends on the numerical value of the

integers

Answer:

o Watch Video Solution

16. The statement “When an integer is added
to itself, the sum is greater than the integer”

is


https://dl.doubtnut.com/l/_7f9RHiuyDFSJ
https://dl.doubtnut.com/l/_sjpkWAjj01oj

A. always true

B. never true

C. true only when the integer is positive

D. true for non-negative integers

Answer:

o Watch Video Solution

17. Which of the following shows the maximum

rise in temperature?


https://dl.doubtnut.com/l/_sjpkWAjj01oj
https://dl.doubtnut.com/l/_U0FyqbqKFhDQ

A.0°Ctol10°C

B.—4°Cto 8°C

C.—15°Cto —8°C

D.—-7°Cto0°

Answer:

° Watch Video Solution

Exercise State Whether The Given Statements

Are True T Or False F



https://dl.doubtnut.com/l/_U0FyqbqKFhDQ

1. The smallest natural number is zero.

o Watch Video Solution

2. Zero is not an integer as it is neither

positive nor negative.

o Watch Video Solution

3. The sum of all the integers between -5 and -1

is -6.



https://dl.doubtnut.com/l/_UnM3FpGNx6oU
https://dl.doubtnut.com/l/_emVIcPwKduV0
https://dl.doubtnut.com/l/_zdDOa3NDyQPZ

o Watch Video Solution

4. The successor of the integer 1is 0.

o Watch Video Solution

5. Every positive integer is larger than every

negative integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_zdDOa3NDyQPZ
https://dl.doubtnut.com/l/_5z2qs5xQ25Xp
https://dl.doubtnut.com/l/_T6BBfAvCer2m

6. The sum of any two negative integers is

always greater than both the integers.

° Watch Video Solution

7. The sum of any two negative integers is

always smaller than both the integers.

o Watch Video Solution



https://dl.doubtnut.com/l/_tO0sn0mnLmSu
https://dl.doubtnut.com/l/_Wmag8J6gRKHE

8. The sum of any two positive integers

greater than both the integers.

o Watch Video Solution

9. All whole numbers are integers

o Watch Video Solution

10. All integers are whole numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_CR2aW9tNtdmU
https://dl.doubtnut.com/l/_GsHLTYE2eJBp
https://dl.doubtnut.com/l/_fAEt1RyXF3cI

1.Since 5 > 3,therefore —5 > — 3

o Watch Video Solution

12. Zero is less than every positive integer.

o Watch Video Solution

13. Zero is larger than every negative integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_fAEt1RyXF3cI
https://dl.doubtnut.com/l/_SHsjyD3kJTUK
https://dl.doubtnut.com/l/_ncRQ0cE6xPY6
https://dl.doubtnut.com/l/_7lv4Xcr7Plz4

14. Zero is neither positive nor negative.

o Watch Video Solution

15. On the number line, an integer on the right
of a given integer is always larger than the

integer

o Watch Video Solution



https://dl.doubtnut.com/l/_7lv4Xcr7Plz4
https://dl.doubtnut.com/l/_Y5PFbMGNPJbl
https://dl.doubtnut.com/l/_qc5FoZSYgyo6

16. — 2 is to the left of — 5 on the number line.

o Watch Video Solution

17. The smallest integer is O.

o Watch Video Solution

18. 6 and — 6 are at the same distance from O

on the number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_xUiyPtZrUpyF
https://dl.doubtnut.com/l/_LtrkfghQPuO8
https://dl.doubtnut.com/l/_Ok9eLzERRwRJ

19. The difference between an integer and its

additive inverse is always even.

o Watch Video Solution

20. The sum of an integer and its additive

inverse is always zero.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ok9eLzERRwRJ
https://dl.doubtnut.com/l/_Qjv8fT1ulzfp
https://dl.doubtnut.com/l/_VK0xeY6202LB

21. The sum of two negative integers is a

positive integer.

o Watch Video Solution

22. The sum of three different integers can

never be zero.

o Watch Video Solution

Exercise Fill In The Blanks To Make The

Statements True



https://dl.doubtnut.com/l/_gR752xMVA8yU
https://dl.doubtnut.com/l/_qc9tSv3itlSq

1. On the number line, — 15 is to the

Zero.

o Watch Video Solution

2. On the number line, 10 is to the

zZero.

o Watch Video Solution

3. The additive inverse of 14 is



https://dl.doubtnut.com/l/_qRRSpRA2GJdV
https://dl.doubtnut.com/l/_zIyx8yTKqgKk
https://dl.doubtnut.com/l/_5h5ru51ypdO0

o Watch Video Solution

4. The additive inverse of -1 is

o Watch Video Solution

5. The number of integers lying between -5

o Watch Video Solution



https://dl.doubtnut.com/l/_5h5ru51ypdO0
https://dl.doubtnut.com/l/_rW39SbOZWka0
https://dl.doubtnut.com/l/_x72ZkaOJIVEL

6.(—11)+(—-2)+(—-1) =

o Watch Video Solution

7.(—80)+ 0+ (—90) =

o Watch Video Solution

8. —3456 = — 8910

o Watch Video Solution



https://dl.doubtnut.com/l/_7Q1OkAmoxkGf
https://dl.doubtnut.com/l/_SEu7vaHstgqY
https://dl.doubtnut.com/l/_DTqlFiWTTXUY

Exercise Fill In The Blanks

1.(—11) + ( — 15) 11 + 15

° Watch Video Solution

2.(—-T)+(-9 _ _(—-8)+ (-9

° Watch Video Solution



https://dl.doubtnut.com/l/_LpjREzcqUl7w
https://dl.doubtnut.com/l/_6ie3jEIDEgle

3.Fill in blanks using sigh <, > or = .

° Watch Video Solution



https://dl.doubtnut.com/l/_YA658JbZpUsJ
https://dl.doubtnut.com/l/_gWkpzBCXLlcp
https://dl.doubtnut.com/l/_MetDpLWRNQKJ

o Watch Video Solution

7. (—=2)+(—5)+(—6)

(=3)+(-4)+(-6

o Watch Video Solution



https://dl.doubtnut.com/l/_MetDpLWRNQKJ
https://dl.doubtnut.com/l/_WIxa5CdkH0Ti
https://dl.doubtnut.com/l/_6jdjEKjbB5UO
https://dl.doubtnut.com/l/_OgueBBRyikzi

o Watch Video Solution

O. 1+2+4+3

(~)+(-2) - (-3

o Watch Video Solution

1. Match the items of Column | with that of

Column ll:


https://dl.doubtnut.com/l/_OgueBBRyikzi
https://dl.doubtnut.com/l/_9917aEyeQyvR
https://dl.doubtnut.com/l/_Ry7ICEZ4LcG5

Column I Column II
(i) The additive inverse of +2 (A)O
(i) The greatest negative integer (B)-2
(iii) The greatesl negative even integer C)2
(iv) The smallest integer greater than every
negative integer (D)1
(v)  Sum of predecessor and successor of -1 | (E)-1

° Watch Video Solution

2. Compute each of the following:

30+ ( —25) + ( — 10)

o Watch Video Solution



https://dl.doubtnut.com/l/_Ry7ICEZ4LcG5
https://dl.doubtnut.com/l/_67J7PcAfbwd7

3. Compute each of the following:

(—20) + (- 5)

° Watch Video Solution

4. Compute each of the following:
70+ ( —20) + ( — 30)

A. 20

B.-20

C. 22


https://dl.doubtnut.com/l/_Re46biVHkfeM
https://dl.doubtnut.com/l/_ru6puzgqiiD9

D.-22

Answer: A

o Watch Video Solution

5. Compute each of the following:

—50 + ( — 60) + 50

° Watch Video Solution



https://dl.doubtnut.com/l/_ru6puzgqiiD9
https://dl.doubtnut.com/l/_oTiytqLxSUYK

6. Compute each of the following:

1+ (—=2)+(—=3)+(—4)

o Watch Video Solution

7. Compute each of the following:

0+ (—5)+(—2)

o Watch Video Solution



https://dl.doubtnut.com/l/_3JdsfaCqAa8d
https://dl.doubtnut.com/l/_ja1Yi13YtNMk

8. Compute each of the following:

0—(—6)—(+6)

o Watch Video Solution

9. Compute each of the following:

0-2—(—2)

o Watch Video Solution



https://dl.doubtnut.com/l/_CntUgIJXYJXx
https://dl.doubtnut.com/l/_BHmYs2RSVKta

10. If we denote the height of a place above
sea level by a positive integer and depth below
the sea level by a negative integer, write the
following using integers with the appropriate
signs:

(a) 200 m above sea level (b) 100 m below sea
level

(c) 10 m above sea level (d) sea level

o Watch Video Solution



https://dl.doubtnut.com/l/_oO5PVloXhP9u

11. Write the opposite of each of the following:

Decrease in size

o Watch Video Solution

12. Write the opposite of each of the following:

Failure

o Watch Video Solution



https://dl.doubtnut.com/l/_4fFjIYoxYCGC
https://dl.doubtnut.com/l/_dudnY4E5KflM

13. Write the opposite of each of the following:

Profit of Rs.10

o Watch Video Solution

14. Write the opposite of each of the
following:

1000 A.D.

o Watch Video Solution



https://dl.doubtnut.com/l/_ENdhm0R8bz61
https://dl.doubtnut.com/l/_6xX0bFz4tb50

15. Write the opposite of each of the following:

Rise in water level

o Watch Video Solution

16. Write the opposite of each of the following:

60 km south

o Watch Video Solution



https://dl.doubtnut.com/l/_hUTXUB3v5aWx
https://dl.doubtnut.com/l/_MGjjvJmMLK1x

17. Write the opposite of each of the following:

10 m above the danger mark of river Ganga

° Watch Video Solution

18. Write the opposite of each of the following:
20 m below the danger mark of the river

Brahmaputra

° Watch Video Solution



https://dl.doubtnut.com/l/_ISyGmqflawTg
https://dl.doubtnut.com/l/_d1t0NvpSNQj4

19. Write the opposite of each of the following:

Winning by a margin of 2000 votes

° Watch Video Solution

20. Write the opposite of each of the
following:

Depositing Rs.100 in the Bank account

° Watch Video Solution



https://dl.doubtnut.com/l/_fwAKajQB05NE
https://dl.doubtnut.com/l/_B2RxOX7fHKNk

21. Write the opposite of each of the following:

20° C'rise in temperature.

° Watch Video Solution

22. Temperature of a place at 12:00 noon was
+5°C. Temperature increased by 3°C in first
hour and decreased by 1°C in the second

hour. What was the temperature at 2:00 pm?

o Watch Video Solution



https://dl.doubtnut.com/l/_bC1jXFVEqenk
https://dl.doubtnut.com/l/_6KooHV4UlHsx
https://dl.doubtnut.com/l/_be1l3bpZIaeW

23. Write the digits 0, 1, 2, 3, .., 9 in this order
and insert '+' or - between them to get the

result 3.

o Watch Video Solution

24. Write the integer which is its own additive

inverse

o Watch Video Solution



https://dl.doubtnut.com/l/_be1l3bpZIaeW
https://dl.doubtnut.com/l/_qcCrr2OxPyci

25. Write six distinct integers whose sum is 7.

o Watch Video Solution

26. Write the integer which is 4 more than its

additive inverse.

o Watch Video Solution

27. Write the integer which is 2 less than its

additive inverse.



https://dl.doubtnut.com/l/_tGKj1uxyH6WP
https://dl.doubtnut.com/l/_KT2h1mbEkKd8
https://dl.doubtnut.com/l/_j3NcD7REEYya

o Watch Video Solution

28. Write two integers whose sum is less than

both the integers.

o Watch Video Solution

29. Write two distinct integers whose sum is

equal to one of the integers.

o Watch Video Solution



https://dl.doubtnut.com/l/_j3NcD7REEYya
https://dl.doubtnut.com/l/_ALXVQxsyDoFR
https://dl.doubtnut.com/l/_SkiPP4zrwM5i
https://dl.doubtnut.com/l/_NlXMf6wJBvfm

30. Using number line, how do you compare
(@) two negative integers? (b) two positive
integers?

(c) one positive and one negative integer?

° Watch Video Solution

31. Observe the following :
142-3+4+5-6—-7+8—-9= —5
Change one — sign as + sign to get the

sum 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_NlXMf6wJBvfm
https://dl.doubtnut.com/l/_AGanwtbTZY4q

32. Arrange the following integers in the
ascending order :

~2,1,0, —3, +4, — 5

o Watch Video Solution

33. Arrange the following integers in the

descending order :

-3,0, —1, —4, —3, —6

o Watch Video Solution



https://dl.doubtnut.com/l/_AGanwtbTZY4q
https://dl.doubtnut.com/l/_frmk1JqvqOwC
https://dl.doubtnut.com/l/_LpUTZFWUb8nJ

34. Write two integers whose sum is 6 and

difference is also 6.

o Watch Video Solution

35. Write five integers which are less than -100

but greater than -150.

o Watch Video Solution



https://dl.doubtnut.com/l/_LpUTZFWUb8nJ
https://dl.doubtnut.com/l/_6bSngLmuYgVe
https://dl.doubtnut.com/l/_nkl2zvBZRhWB

36. Write four pairs of integers which are at

the same distance from 2 on the number line.

° Watch Video Solution

37.The sum of two integers is 30. If one of the

integers is — 42, then find the other.

o Watch Video Solution



https://dl.doubtnut.com/l/_0A3u4ZEMC7ws
https://dl.doubtnut.com/l/_Mio1snD1ZlLs

38. Sum of two integers is -80. If one of the

integers is -90, then find the other.

° Watch Video Solution

39. If we are at 8 on the number line, in which
direction should we move to reach the integer

(a) -5 (b) 11 (c) 0?

° Watch Video Solution



https://dl.doubtnut.com/l/_oSLHd9CYN3eY
https://dl.doubtnut.com/l/_eEPv7WJbslyb

40. Using the number line, write the integer
which is

(a) 4 more than —5

(b) 3 less than 2

(c) 2 less than -2

o Watch Video Solution

41. Find the value of

49 — (—40) — ( — 3) + 69

o Watch Video Solution



https://dl.doubtnut.com/l/_sC1fNfYzwRYi
https://dl.doubtnut.com/l/_ie6RbGANJB61

42. Subtract -5308 from the sum [(-2100) +

(-2001)]

o Watch Video Solution



https://dl.doubtnut.com/l/_ie6RbGANJB61
https://dl.doubtnut.com/l/_9ld4AcYKMBre

